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| PART A: Vocabulary

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
| Then mark your answer on the answer sheet.

The board agreed to --------- -- (wo committees to examine the proposals.

1) distinguish 2) generate 3) establish 4) attribute

The Red Cross organized the -—------ of food and clothing in the disaster area.

1) distribution 2) application 3) integration - 4) implementation
A high ------"m--- of the products tested were found to contain harmful chemicals.

1) contribution 2) proportion 3) dimension 4) resolution

The slight difference in the way men and women are affected by the drug is not really ------ -
1) intrinsic 2) contrary 3) predominant 4) significant

The schedule isn’t final, but we don’t -----—- - many changes. '

1) estimate 2) anticipate 3) conduct 4) allocate

They —-—---- principles of international law to claim ownership of the sunken ship.

1) invoked 2) promoted 3) induced 4) derived

The program allows learners to —-—------- their own interests as well as do their school work.
1) attain 2) retain 3) display 4) pursue
Continued economic growth is a danger to the environmental ~---—--- of the planet.

1) assurance 2) stability 3) convention 4) conformity
During the last one hundred years, -------—- every aspect of life has been westernized.

1) conversely 2) primarily 3) virtually 4) redundantly
U.N. officials have called for extra financial —------- to deal with the emergency.

1) resources 2) circumstances 3) parameters 4) initiatives

PART B: Grammar

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best fits each
blank. Then mark your answer on your answer sheet.

Everyone brings some kind of power to the negotiating table. It’s easy to be awed (11) ---------- external
sources of power and influence while (12) --------- such internal sources of your own power [13}. s
your self-esteem, self-knowledge and confidence (14) —~--—--- fast on your feet. Power in a negotiation can
be very dynamic. Be patient and your own store of internal power (15) -—==--=-- to your advantage.

1) for 2) with 3)by 4) from

1) overlooking 2) to overlook 3) be overlooking 4) being overlooked
1) of 2) as 3) like 4) about o

1) you think 2) so thinking 3) to think 4) as you are thinking

1) being working 2) is working 3) is to work 4) will work
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Directions: Read the following five passages and choose the best choice (1), (2), (3) or (4). Then

i
1

PASSAGE 1:

Discarded tires have been a disposal problem in the past and continue to accumulate throughout
the world today. Recent figures from the United States Environmental Protection Agency (EPA)
show that over 279 million discarded tires are being added to an estimated 2~3 billion tires
currently stockpiled around the U.S. The discarded tires can present both health and environmental
hazards. Improperly stored tires are potential breeding grounds for diseases-carrying insects and
rodents; tire fires can be difficult and expensive to extinguish and can cause air, soil and water
quality problems.

In the U.S., there are:

1) little concerns about used tires

2) about 2-3 billion tires on the roads

3) billions of accumulated used tires

4) millions of improper stockpiles of discarded tires
To extinguish means to -------- --.

1) put out 2) expand 3) destroy 4) find out

Due to storage of discarded tires ~--------- )

1) environmental hazards may be eliminated 2) there will be potential for energy saving
3) soil quality problem can be prevented 4) water pollution may happen

PASSAGE 2:

The human-relations aspect of engineering practice is not usually
emphasized in undergraduate training because of the great quantity of technical
information and techniques the student must learn. That this may be a fallacious
course is implied by the fact that failures of young engineers because of
personnel problems are at least five times as frequent as failures because of
iInadequate technical training. All engineers must realize that the industry in
which they are working requires team effort of all personnel. Valuable information
can be obtained from operators of limited educational background who have
observed similar processes. The person who has “lived” with an operation has
probably observed actions and effects and has learned methods of detailed
f;untrul that cannot be approached by formal theory alone. The best engineering
job can be done only with proper regard for all available facts regardless of their
source. A new process or the technical improvement of an existing one designed
without due regard for the operators is usually destined to failure. The start-up of
a new plant or the installation of a technical change is likely to be much smoother

and the cost of it much less if the operating personnel understand the objectives
and are convinced of their soundness.
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According to the passage -------—--- .

1) there 1s no failure of young engineers due to personal relations

2) inadequate technical information can be compensated by personal relations

3) failure of young engineers due to personal relations is five times greater than failure due to
inadequate technical training

4) failure of voung engineers due to inadequate technical training is five times greater than failure
due to personal relations

According to the passage personal relations aspect of engineering is not emphasized because --
1) 1t 1s not important in engineering practice

2) industry work does not require team effort

3) human relations aspect of engineering can be taught in industry

4) there is a lot of technical information to be taught in undergraduate training

“Soundness” in the last sentence means that the objectives are ---------- .

1) lousy 2) logically valid 3) irrational 4) with sound
According to the passage a lot of technical information can be obtained from -------- -
1) operating personnel 2) human relations

3) the startup of a new plant 4) observing actions and effects
PASSAGE 3:

Batch reactors are one of the reactors that are extensively used in industry. Because of its
flexibility and convenience in operation, batch reactors are always used in manufacturing products
in small volume but of high added value. However, batch reactors are operated in a closed tank.
Improper control may have other sub-reaction or cracking reaction not found in correct production.
If out of control, reactors may reach high temperature and pressure beyond the endurance of the
reactor, thus resulting in a runaway. Similar runaway phenomenon can be found in continuously
stirred tank reactors (CSTRs).

A runaway ---------- i
1) only occurs in CSTR 2) only occurs in batch reactors
3) is the limit of endurance of a batch reactor 4) is a situation which has grown out of control

Batch reactors ------——--,

1) are operated at very high pressure and temperature

2) are used for massive production of expensive products

3)are used for production of expensive products

4) can be used for the production of a very limited range of products

PASSAGE 4:

Activated carbon (AC) has been widely used in various
fields due to its outstanding adsorption capacity of organic
compounds. AC can remove harmful organic compounds
f’n:rm industrial wastewaters. Recently, the demand for AC
Is growing rapidly in Korea as the emission standards of
treated wastewater become more stringent. However, a dis-
advantage of using AC is its high cost in both eperation
and disposal of spent ones, which miakes the regenération
of the spent activated carbdn (SAC) econdmically feasible.
Thermal regeneration has been a broadly applied method
among various techniques, but, upon the regeneration, it suf-
fers from production of air pollutants, a high energy input,
decrease in hardness of AC, and enlargement of pore size.

As an alternative to the thermal regeneration, chemical re-
generation of SAC using organic solvents might be a choice
due to its high regeneration rates as well as recovery of the
original integrity of SAC. Chemical regeneration becomes
more economical than thermal regeneration as the amount
of adsorbate increases
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25- The emission standards of treated wastewater in Korea have become:
1) tougher 2) relaxed 3) more complex 4) more flexible
26- What can be said for thermal regeneration of activated carbon?
1) It encloses the pore size of activated carbon.  2) It has been used more than other techniques.
3) It increases the hardness of activated carbon.  4) It has economical energy consumption.
27- Chemical regeneration of activated carbon might be a better choice compared to thermal
regeneration because:

1) 1t 1s always more economical 2) 1t uses an organic solvent
3) the amount of adsorbate increases 4) it produces reactivated carbon at a high rate
PASSAGE 5:

In recent years, the risks posed by chemical industries
to life, property and environment has significantly in-
creased due to many reasons: increased population density
near industrial complexes, size of operation, complexity,
and use of extreme operating conditions. This has led
to the development and use of better hazard identifica-
tion and analysis techniques like FMEA, QRA, HAZQOP,
etc. which try to reduce the frequency and consequences
of accidents. Such safety analyses at later stages com-
plicate the design and prompt additional costs. Estimates
.show that in the oil and chemical industries, 15-30%
of capital cost is now spent on such safety and pollus
tion prevention measures. This has challenged chem-
ical industries to develop processes that are inherently
safer, environmentally friendlier, simpler, and more cost

effective. _

Just because it has not happened yet, does not mean
that one has a safe facility, Many people have said, “We
haven’t had an accident here in 15 years.” They, there-
fore, assume they have a safe facility. Such a statement
is an absolute fallacy. No doubt they said that one day
before Bhopal, Chernobyl Pasadena, etc.

28- In the second paragraph of the passage “an absolute fallacy” means:

1) completely wrong  2) unbelievable 3) an exaggeration 4) perfectly true
29- In the first sentence in the second paragraph of the passage, “it” refers to:

1) hazard 2) an accident

3) hazard analysis and identification 4) frequency and consequences of accidents
30- The hazards of chemical industries have increased recenty because chemical factories:

1) have become less complex 2) use moderate temperatures and pressures

3) have got bigger in size 4) are situated near to less populated areas
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